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(@]

Q) On the set Z of integers, relation R is defined as "a Rb <
a+2bisan integral multiple of 3". Which one of the following
statements 1s correct for R ?

(a) Ris onlyreflexive v~

(b) Risonlysymmetric

(¢) Risonlytransitive

(d) Risanequivalencerelation

’{Cf/cm’w ' Aef g ¢ z
/

atdfa) = 3a - 3xa

‘meféo/l of 3
J&fmrndrfc, o A (4,6) €R
X @+db = 3nm { 6.,.51“ /m?'a H)u/ﬁ}’,& (f 3/

b+3(sma)f 30
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Q) On the set Z of integers, relation R is defined as "a Rb <
a+2bisan integral multiple of 3". Which one of the following
statements 1s correct for R ?

(@) Risonlyreflexive

(b) Risonlysymmetric

(¢) Risonlytransitive

(d) Risanequivalencerelation

Ans: (a)
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Q) A function f is defined by f(x) =x+l. Consider the
X

following.
D (fE)*=f()+2
@ (FEP=,C>)+3f()

Which of the above i1s/are correct?

(@) 1only (b) 2only

(c) Bothland2 (d) Neither 1 nor 2

(1) LHS = [1)) (Xf__/_) (L-r_lz) F4 = Y((zy-f.? = RHS ‘\/
X

(2) LHS = ({fx) -.-( 5_ .2 S 1
(f/ z+_zL).. sl 431 +3 ;(x XJ)H(“_%

73 y A
- 7((9(3) f-?/[y s RHS—V
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Q) A function f is defined by f(x) =x+l. Consider the
X

following.

1) (FE)2=f(2)+2

@ (F@P=GH)+3®

Which of the above is/are correct?

(@) 1only (b) 2only

(c) Bothland2 (d) Neither 1 nor 2

Ans: (c)
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Q) f:{1,2,3} >{4,5}is not a function if it is defined by
which one of the following?

(@ (2,4),6,5),(1,5);
(b) {(1,4),(2,4),3.4);
© 1,4),(2,5),3,4);
d) {(1,4),(1,5),(2,4),@2,5),3,4),(3,5)}

X

b gl
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(

atp g seC — a should m/dr come e i ordered pafrt
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Q) f:{1,2,3} >{4,5}is not a function if it is defined by
which one of the following?
@ 1(2,4).G,5).(1,5)}
(b) {(1,4),(2,4),3,4)}
(© {(1,4),(2,5),3,4);
@ {(1,4),(1,5),(2,4),(2,5),(3,4),(3,5)}

Ans: (d)
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Q)If N, ={ax |xe N},then whatis Ny, N Ng equal to?

@) Np, (b) Ny
(©) Ny

™
)
))
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Q)If N, ={ax |xe N},then whatis Ny, N Ng equal to?

@) Np, (b) Ny
(©) Ny (d) Nyg

Ans: (c)
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Q) Suppose that A denotes the collection of all complex numbers

whose square 1s a negative real number. Which one of the
following statements 1s correct ?

(a) A C R} ﬁ } all Lomadfnardo
b) A=2R 4

) A={x+iyx’eRx,ye R} X
(d A={iylye R} /

humg s
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Q) Suppose that A denotes the collection of all complex numbers

whose square 1s a negative real number. Which one of the
following statements 1s correct ?

@ ASR

b) A=2R

) A={x+iyx’eRx,ye R}
(d) A={yly € R}

Ans: (d)
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Q) A relation R 1s defined on the set Z of integers as follows :
mRn < m-+nisodd.
Which of the following statements 1s/are true for R ?
1. Risreflexive 2. Rissymmetric
3.  Ristransitive
Select the correct answer using the code given below :
(@) 2only (b) 2and3
(¢) land?2 (d) land3

\

RfE//MfVL MM AN =7 hof Od{ — X

1L

ﬁmmafw’c e M+

odd / ntm — odd —— V'

ey + 0dd
1?’ 0dd + even
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Transitive

m,n,p
m+n = Oa{t{ \M
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Q) A relation R 1s defined on the set Z of integers as follows :
mRn < m-+nisodd.
Which of the following statements 1s/are true for R ?
1. Risreflexive 2. Rissymmetric
3.  Ristransitive
Select the correct answer using the code given below :
(@) 2only (b) 2and3
(¢) land?2 (d) land3

Ans: (a)
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Q)Which one of the following sets has all elements as odd
positive integers ?
@ S={xeR’-8x*+19x—-12=0} —— X =/,
(b) S={xeRx’-9x*+23x-15=0}

() S={xeRx3-7x2+14x—8=0}
d S=& €RX3—12X2+44X—48i0}\' L=
412
a) 4
( . (} — 8t #1921 ~12 i
- (x-1) (a*- 22 #12) = 0
~ 71t 419y (x-f)(x —3) (x_q) =
Mt 49 /
e L wen—
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1 -8x 15

(5) 4 ) C - 1 Broys

x> -~ Edn-15 = (1"')(22"?“'*,5) =0

—$at 4 43 7 (z.-r)('x-—a) (1—5) =0
—0F ter
/58 15 r=12,7

a/l odd
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Q)Which one of the following sets has all elements as odd
positive integers ?
(@) S={xeRx’-8?*+19x-12=0}
(b) S={xeRx’-9x*+23x-15=0}
(c) S={xeRx}-7x*+14x—-8=0}
(d) S={xeR[x>-12x*+44x—48=0}

Ans: (b)
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Q)If a set A contains 3 elements and
another set B contains 6 elements,
then what is the minimum number
of elements that (A U B) can have?

(@) 3 (b) 6
() 8 (d) 9

/A =
( {0,6,6,/ 23 /fUB:- é’_\_, ’)’)(AUB) :7)[3}:@

Ac:B
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Q)If a set A contains 3 elements and
another set B contains 6 elements,
then what is the minimum number
of elements that (A U B) can have?

(a) 3 (b) 6
(c) 8 (d) 9

Ans: (b)
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Q)Let P= {p,,D,.P3. Dy}
Q =1{4;> 9> 93> Q4 and
= {1, 1y, T4, 1,
ItS,,= 1(®; ;. rk) 1+1+k=10},
how many elements does S, , have ?

(@) 2 (b) 4

() 6 (d) 8

3+3+4 = [p »?+u:to 9.3

Potfstty =" Psigyry /@
y

/"/fisfrs f"ffﬂ‘ry

fatger’s (R R
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Q)Let P= {p,,D,.P3. Dy}
Q - {ql.‘r q2:~ q_’:’,fr CLL} aﬂd
= {r1 I,, 15 r4}
ItS,,= 1(®; ;. rk) 1+1+k=10},
how many elements does S, have ?
(@) 2 (b) 4
() © (d) 8

Ans: (c)
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Q)Letf: [ 100 7t,100p7] — [-1, 1] be defined by £(6) =sin 0.
Then what 1s the number of values of 6 € [-100 &, 1000 =]
for which £(6)=0?

(@) 1000 (b) 1101
(c) 1100 (d 1110
(/000)
.S';DO ) B — —
—looT M o T
0’ -n7 ya - (I”)
) (100)
" EZ

!
Jooo T~
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Q)Letf: [- 100,100 ] — [-1, 1] be defined by £(6) =smn 6 .
Then what 1s the number of values of 6 € [-100 &, 1000 7]
for which £(6)=0?

(@) 1000 (b) 1101
(c) 1100 (d 1110

Ans: (b)
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Q) Consider the following statements:
For non emptysets A, Band C
. A-(B-O)=(A-B)uC X
2. A-Bu(O)=(A-B)-C
Which of the statements given above 1s/are correct?

(@) 1only (b) 2 only
(c) Both1land?2 (d) Neither 1nor 2

|

@ A Fﬂ
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(4-8) - ¢
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Q) Consider the following statements:
For non emptysets A, Band C
. A-(B-O)=(A-B)uC
2. A-Bu(O)=(A-B)-C
Which of the statements given above 1s/are correct?

(@) 1only (b) 2 only
(c) Both1land?2 (d) Neither 1nor 2

Ans: (b)
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Q)A relation R is defined over the set of non-negative mtegers
N —

as ny=>x +y =36 what 1s R?

@ 10,6} 13,3, %
)  {(6.0), (11,5.3.3.43) X

© {(6,0),(0.6)} v

(@ (V11,5),(2,442),(5\[1D).(44/2,2)} X

- o W - -
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(@]

EXAMS

Q)A relation R is defined over the set of non-negative integers
as xRy = x% + y2 =36 whati1s R?
@ 10,06);

®)  {(6,0), (11,5),(3,3,43)
© {(6,0),(0,06)}

@ (V11,5),(2,442), 5:/11), (44/2,2)}

Ans: (c)
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Q) What does the shaded region in the Venn diagram given
below represent ?

@) Cn(A'nB) “ (b) Cu(C'nANB)
© CuUCAA)UCAB)@ CU(A/B)

EXAMS
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Q) What does the shaded region in the Venn diagram given
below represent ?

@ Cn(A'nB) (b) Cu(CnANB)
© CulCnA)u(CnB@ Cu(A/B)

Ans: (b)

EXAMS
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Q)Let R be the set of real numbers.

Statement-1: A = {(x, )€ R X R : y—x 1s an integer} 1s an /

equivalencerelation on R.
Statement-2: B= {(x, y)€ R x R :x=ay for somerational

number o} 1s an equivalence relation on R.

@)

(b)
©
(d)

Statement-1 1s true, Statement-2 1s true; Statement-2 1s
not a correct explanation for Statement-1.

Statement-1 1s true, Statement-2 1s false.
Statement-1 1s false, Statement-2 1s true.

Statement-1 1s true, Statement-2 1s true; Statement-2 18
a correct explanation for Statement-1.

\—

7~ )
1> oy 7 oA =/

ﬁiﬂ'uc ve v

} %l A I rakimal,

——W‘ x A
& altp rahmal y

(0 3
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(xld)——-} = vfaf Tmn"‘ﬁn _—‘/
(&, z) — 0‘ =z "

(ﬂ,l) —s Q2 z29Z )

[

WJ =z
d(dz) > £z
o{zz- z = 0
_ of =) (vefiona)
0(2(%-/) =4 )) 4 (af(z;ao)/ / / [ )
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Q)Let R be the set of real numbers.
Statement-1: 4 = {(x, y)e R X R : y—Xx 1s an integer} 1s an
equivalencerelation on R.

Statement-2: B= {(x, y)€ R x R :x=ay for somerational
number o} 1s an equivalence relation on R.

(@) Statement-1 1s true, Statement-2 1s true; Statement-2 1s
not a correct explanation for Statement-1.

(b) Statement-1 is true, Statement-2 1s false.
(¢) Statement-1 1s false, Statement-2 1s true.

(d) Statement-1 1s true, Statement-2 1s true; Statement-2 1s
a correct explanation for Statement-1.

Ans: (a)

@i=]
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